Name:

Bruchteile als Prozente

1) ‘5‘ von 1215 km = 18000 - 80%
2.) ;g von 775 cm = 15020 = 52%
3.) 235 von 825 € - 11020 - 129%
4) —5—von 1400 Bliten = 11000 - 10%
5.) 2_) von 845 Fragen = 12000 = 20%
6.) ;g) von 220 Autos = 15050 - 55%
7) —>—von 1290 Tuben = 19000 = 90%
8.) o5 von 1375 Reifen = 13020 = 32%
9.) —&—von 1275 Dosen = 12080 _ 28%
10.) gg von 1300 cm? = 14060 - 46%
11)) 5; von 750 mm = 18040 - 84%
12.) —s5—von 15001 - 11080 - 18%
13.) 1 von 1404kg = 12050 - 259%
14.) ;g von 500 Tagen = 12060 - 26%
15.) ;g von 600 Radern = 17020 - 72%
16.) von 1216 Radios = —9L22_ _ 875%
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Datum:

1215 km

775 cm

825 €

1400 Bliten

845 Fragen

220 Autos

1290 Tuben

1375 Reifen

1275 Dosen

1300 cm?

750 mm

1500 t

1404 kg

500 Tagen

600 Radern

1216 Radios

Rhesusatte

972 km

403 cm

99 €

140 Bluten
169 Fragen
121 Autos
1161 Tuben
440 Reifen
357 Dosen

598 cm?
630 mm

270 t

351 kg
130 Tage
432 Rader

1064 Radios

W .Knobloch



Name: Datum:

Bruchteile als Prozente Rhesusatle
4 80 o _
1.) 5 von 1215 km = 00 " 80 % von 1215 km =
13
2.) o5 von 775 cm = 900 " von 775 cm =
3.) 235 von 825 € - - von 825 € -
4.) 70 von 1400 Bluten = — = von 1400 Bliten =
5.) 2_) von 845 Fragen = — = von 845 Fragen =
6.) ;g) von 220 Autos = —— = von 220 Autos =
7.) 70 von 1290 Tuben = — = von 1290 Tuben =
8.) o5 von 1375 Reifen = —— = von 1375 Reifen =
9.) o5 von 1275 Dosen = — = von 1275 Dosen =
23
10.) 50 von 1300 cm? = —— = von 1300 cm? =
21
11.) o5 von 750 mm = —— = von 750 mm =
12.) 50 von 1500 t = —— = von 1500t =
13.) 1 von 1404kg = — = von 1404kg =
14.) 5138 von 500 Tagen = —— = von 500 Tagen =
18

15.) von 600 Radern — = von 600 Radern

25

16.) von 1216 Radios — = von 1216 Radios
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